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Answers to this paper must be wrilten on the paper provzded separately.
- You will not be allowed to write during the first 15 minutes.
This time is to be spent in reading the question paper.
The time given at the head of this paper is the time allowed for writing the answers.
This paper comprises of two sections- Section I and Section I1. |
Antempt all the questions from section I. Attempt any four questions from section II.
The intended marks for questions or parts of questions are given iri brackets [].

This paper consists of five prmred pages Nothing should be written on this question paper.

SECTION I (40 Marks)
it _ Ah‘empt all questions ﬁom this sectzon
Question 1 :

(7]
N

() Name the following: : " . ‘ ' {
(1) The part of the brain associated with memory. 7 '
(ii) The part of the ear ossicle which is attached to the tympanum
(iii) The type of géne which is not expressed in the presence of a cr"ltrastmg alle]e S e
(iv) The competition between members of same species.
(v) The process of conversion of ADPinto ATP during photosynthesxs

- (b) State the main function of the followmg .- : I Q‘{ (31
(i) Cerebrospinal fluid ' PPNt o
(ii) Eustachian tube = - . g pf L NEE
(ii1)Suspensory ligament ofthe eye ’ e i .
(iv) Sperm duct . WA e Wb

(v) Lenticels I . “a‘““‘f-;;;ifs_%‘ (.

(¢) Copy and complete the followmg by fi

lling in the blanks 1 .t‘o 5 ﬁith'a. ropriate words: (3]
The human female gonads are ovaries. e

A maturing egg in the ovary is present in a sac of

cells called
calle (1). As the egg grows larger, the follicle enlarges and gets filled
with a fluid and is now called the

the egg from the ovary is called
oviductal funnel and fertilisatio
the blastocyst gets fixed in the

(2) follicle. The process of releasing

———__(3). The ovum is picked up by the
n takes place in the (4). In about a week,

endometrium of the uterus and this process is called
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(d) Given below are six sets with four terms each. In each set one term is odd and cannot be
grouped in the same category to which the other three belong. Identify the odd ons in cach
set and name the category to which the remaining three belong The first one has bee
done as an example. S .

Example: Calyx, Corolla, ‘itamens, Midrib

'Odd term: mldnb

Category Parts of a flower
NOE Haemoglobm Glucagon Iodopsin, Rhodopsm _
(n) Erythrocytes, Leucocytes Thrombocytes, Lymp,.ocytes
- (iif) Transpxratlon Photosynthes1s Phagocytosxs Guttatnon A : :
. (iv) Cyton, Photon, Axon, Dendron B SETE )
(v) Oxytocm, Insulm Prolactm Progesterone ~ LEL . B |

(e) Th'? '&iagraio_shoWS sonﬁ'e .nio\'}ement in plants. B

(1) What is the aim of the experlment‘7 B
(11) Why does the plant | move towards the light source‘7 O

(m) ‘What is geotromsm? "
~ (iv) What are tropic movements?
(v) What will happen if the hgm source is removed
from the expenment? ,, :

(D Comples the following eble by fillin in the blanks from 1 to 10 with dppropriate tens,

SNo.;- Gland | Secretion * Punction / Effect on Body
b {3 . . |Vasopressin Ly
o | .;('5) G Promotes Glucose utlhzatlonbybody cells
d |  lacrimal | - (7) . - (®)
e |AdrenalMedullal  (9) . | (10)

(g) Choose the correct answer from the options given below-
(1) Cretinism and Myxoedema are due 10
A Hypersecretion of thyroxin
B, Hypersecretion of growth hormone
_C.Hyposecretion of thyroxin
*'D.Hyposecretion of growth hormone

CABATMIAA PAAMNIS e e '
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Question 2

(ii) Which of the following is not a natural reflex action?
A.Knee-jerk
B. Blinking of eyes duc to strong light
C.Salivation at the sight of food .
D.Sneezing when any irritant enters the nose

(iii) After mitotic cell division, a female human cell will have
A. 44 + XX chromosomes

B. 44 + XY chromosomes
C. 22+ X chromosomes -
D. 22 +Y chromosomes
(iv) Transpiration is the best defined as
A.Loss of water by the plant. -

- B. Evaporation of water from the aerial surfaces of a

plant.
C. Loss of water, as water vapour, by plant. e
. D.Release of water by a plant into the atmosphere.
(v) The site of maturation of human sperms is the S F
A.Seminiferous tubule: ) ' | ég ? oy \7
B. Interstitial cells | SHEE
D. Prostate gland ' ' F( '} R '3 § ’
(h) State the exact location of the following; & “: ~ - _.f tg
(i) Tricuspid valve. =0 5 g8
(if) Amnion = & = é‘
(iii) Aqueous chamber LE - T
(iv)Seminal vesicle '
(v) Adrenal gland -
SECTION II {40 Marks]

Attempt any four questions from this section.

(a) Differentiate between the following pairs on the basis of w
(1) Spinal nerves-and Cranja] nerves

(i1) Near vision and Distant vision (shape of the eye lens)
(iif)Blood and lymph (Composition)

(iv)Vasectomy and tubectomy (explain)

(v) Haematuria and glycosuria (deﬁnition)

hat is mentioned within brackets:
(number of nerves)

Cont’d on page 4
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(b) Observe the given diagram and answer the following questions -_

() Name the part labelled A.
Name any two hormones produced by this part

(ii) What happens to the part B.
a) If fertilization takes place? r »
b). If fertilization does not take place? - e
(iii) Where does the fertilization take place in the grven ﬁgure‘7
(1v) Deﬁne femhzatron penod ,

Questron 3 ,

(a) A candldate in order to study the process of osmoms has taken 3 potato cubes and put them in 3 1
different beakers containing 3 different solutions. After 24 hours, in the ﬁrst beaker the DOtatO
cube. mcreased in size, in the second beaker the potato cube decreased in size and in the thlrd
“beaker theré’ was no change in the size of the potato cube The followmg dlagram shows the ..
result of the same expcnment -~ SO B ‘ :

Size increased Size decreased - ';Si.Zé»i‘.e.'mainisam’e“ .

(i) Give the technical terms of the solutions used.in beakers, 1 5] and 3, ,
~ '(u) In beaker 3, the size of the potato cube remams the same, Explam the reason in
‘brief, - : " o _ _
(iii) Wrrte the specific feature of the cell sap of root hatrs whrch helps in absorptlon of S
water - 2
| __ (w) What is osmosrs’7 . v 2P
(v) How does a cell wall and a eell membrane drffer in theu‘ permeabrhtyo | ' 4

(b) A potted plant was taken in order to prove a factor necessary for photosynthesm ‘The potted
- plant was kept in'the dark for 24 hours. One of the leaves was covered with blaCk pa pe e .
~ the centre. The potted plant was then placed in sunlight for a, few hours. perin

(i) What aspect of photosynthesis was being tested‘7 S ‘ o [
(i) Why was the plant p]aced in the dark before beginning the expenmem') , _‘
(iii) During the starch test, why was the leaf ' S

(1) boiled in water - e S (

(2) boiled in methylated spirit R - ' '
(iv)Write a balanced chemical equation to represent the process of photosynthesrs :
(V) Draw a neat diagram of a chloroplast and label its parts. P S
AfiRiT. oot nEpAT f L L | (
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Question 4

(a) The diagram given below isa representation of a certain phenomenon pertaining to the nervous
‘ system, Study the diagram and answer the following questions:. :

() Name the phenomenon which is being depicted.

(if) Give the technical term for the point of contact between the two nerve cells,
(iii) Name the parts 1, 2, 3 and 4. ‘ ‘ '
(iv)Write the functions of parts 5 and 6

(v) How does the arrangement of neurons in the spinal cord differ from that of the

in?
brain? A,
L 2
_ o P
(b) Give scientific reasons for the following statements: SRR o
(1) Industrial malanism supports evolution by natural selection." t &
(ii) We cannot distinguish colours in moonlight. S a s
(111) Balsam plants wilt during mid-day even if the soil is well watered. L &
(iv) Carbon monoxide is highly dangerous wien inhaled. e : J:?
iy . - o ove S
(v) A person walks clumsily after consuming alcohol. Oy S
| SIFTES
. 3 %
Question 5 TSE o
1) ‘éi-

(a) Given below is a diagram representing a stage during mitotic cell division. Study it carefuliy and

answer the questions which follow:

(1) Is ita plant cell or an animal cell? Give a re
(ii) Identify the stage shown,

P T

Ve =,
L AN
N

,//
(
X

/

-

ason to SU]’)[)()['[ your answer.

(!n) Name t.he stage which follows the one shown here, How is that stage identified?
(iv) How will you differentiate between mitosis and meiosis on the basis of the
chromosome number in the daughter cells?

(v) Draw a duplicated chromosome and |

(9]

abel its parts.
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(b) Answer the following:

(i) Name the following.
(HA mineral iron needed for the formation of b]ood

(2) A part of plasma from where fibrinogen is removed.
(ii) Give one example of each of the following:
(1) A water pollutant :
(2) An aquatlc plant used in the laboratory to demonstrate 02 hberatlon during
photosynthesis -~~~ : o
(3) A plant which do not perform photosyntl1e51s
~ (4) A nitrogenous base in DNA
- (iti) Expand the followmg biological abbreviations:
() AVN
(2) TSH
C@)YMTP
- (4)DNA -

Qnestion 6 o

(a) Draw a dlagram of the human eye'as seen in a vertlcal sec’non and label the parts which
suit the descnptlons relating to the following. . =~ . . [5]
(i) Photosensitive layer of eye.’ R
(i) Structure which is responsible for holding the eye lens in its posmon
(iii)Structure which maintains the shape of the eye ball and. the area of no v1snon
(iv)Anterior chamber seen in front of the eye lens. = e
v) Outermosﬁ*ansparent layer seen in- front of the eye _ ,\ -

A N |
(b). Brleﬂy explnm thtj, followxng terms. - L 9©> . ;o . [5]‘

() Monohybrid cross - - . _ _ RIS o .
(i) Uremla e SO e ,:{:\ > : (
(iii) Population dens:ty R P TR ‘

(iv) Diapedesis: .- S {d 1" ;;.,"'_(b%g?‘ - ;

O) Homones' ™ o L P s
: . . RO S ;
-Qucstion 7 | . i : o; e \
AR ‘

(a) Answer the followmg in bnef
(i) State any two harmful effects of noise pollutlon on human healtl. o o [5\1
(i1) With reference to populatlon control what is meant by the fol]owmg terms:

(1) Laproscopy (
(2) Spermicides &
(3) Contraceptive 2
(b) Answer the following: {
(1) Brifly explain Lamarcklan theory of Inheritance citing an a ropriat l A
(ii) What is scientific name of Neanderthal man. PPropriate example. =
(iii) Write any two features of cro magnam man. L
.6 ‘
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